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VII. Write two essays : (6x2=12)

31) Give an‘account of the part played by Vidushaka in the drama.
| OR

Yougadharayana is the central figure of the play though not its hero— Discuss.

32) Write a brief character sketch of Udayana.
OR

Write a brief character sketch of Padmavati.
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|. Conjugate any five: (1x5=5)
1) ¥ - TR - ST
2) % -G ~ HeHI:
3) - A - FAHgE:
4) 95 - & AAHLRY:
5) & ~Ie, - FIHGRS: (TEAT)
6) 94 - @Ig - HEAHTEY:
7) P - T - ST
8) T - T - MAHGRY: ()
Il. Answer the following : (1, %x4=2)
9) Split any four :
a) &4

b) femrargira

P.T.O.



K15U 0241 2 00 0 T T

c) geafuyd
d) oy
e) Turas
f) SdT=.
10) Combine any four :
a) 4+ 34
b) 9T + 3t
¢) & + AT
d) ol + dqufeq
e) TaH + TAq
f) o + %2 |
I1l. Answer any five in one or two sentences
11) ‘g gyt dfgdisfa’ whose words ?
12) wemfienficaree @ e & , In whom ?
13) Fraiaq R TsaemedrEtd | whose words are referred to here ?
14) ‘af ufer femearia fawanfd’ whom 2
15) ‘3ToIg 3aHIAEYA:’ why Vasavadatta says so ?
16) 3l TeEishia aeATH, who says ? Why ?
17) ‘adt =5ad = ST why ?
18) ‘fergmerreg gefwn:’ of what ?

(1, x4=2)

(1x5=5)

0 O 0

IV. Explain fully any two :

~ 19) Al Fot s forefia) FeEE g |
TRy wetiag aeee 2fiEE: ||
20) EoE faged Aafadiftaresy |
ity e g dEiesd ga ||
21) y=STEIOT ararfaed Wi |
FIIHEEAE gryaTd 4@ 7 ||
22) gepdmuTeer ferd: Fw=mgmiEt: |
geEEd FEwaaETal 59 11

V. Annotate any three:

23) AT ATt w@mey |

24) FeSHAAIIH T 99 T |

25) & daAwe giiEeE |

26) ITE! IFHEUN: Wedlvaw: d |

27) i & el deanedd e ud |

VI. Translate any two into the main Language :

28) weTE gt v et = & e 1
EPRIERCIRiCe ik sz LT

29) EISETATIY ZAT HTHIEHRAT, |
TEH GEAHIUA FaHTFREEEa, ||

30) WYl WYHT HeATdi: R |
U=ty afia FteeE: 9 1|
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(3x2=6)

(2x3=6)

(1x2=2)



